Efficiency [%]

Efficiency [%0]

CMS Slmulatlon Prellmlnary (8 Tev)
j1<q2<868c;ev2 +|v|c ]

| —Fit i
O.OlM
0.005 n B
L oo b e b e e ]
LX) 05 0 05 1
cos 6,

CMS Slmulatlon Prellmmary (8 Tev)

| 1418 < g2 < 19 GeV? fmc
0.02}- —Fit ]
0.01~ _
O [ P L L ]
1 05 0 05 1

cos 6

Efficiency [%0]

Efficiency [%0]

o
o
[
)

CMS Slmulatlon Prellmlnary

(8Tev)

L 10.09 < q2 <12. 86 c-;ev2
0.015

0.005

°

o

[

/
TERRTITIN NRNTI S NIRRT NI

+ MC
—Fit

=)

=

cos 6,

(8 Tev)

1< <19 GeV?
0.015

0.005

CMS Simulation Preliminary
L L B

{ MC
— Fit

=
=N

0.5

[y

cos 6,



